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[ 310 224 86
2 724 773 A 49
0 A2 THGH= 2 X2 (25ha) 2,100 2,100 0
=2 582 1,050 A 468
[ 455 315 140
= 1,063 735 328
et Az Hy 746,740 746,740 0
Xl 502,000 501,718 282
[ 107,370 107,511 A 141
=2 137,370 137,511 A 141
AT AlA 716,740 716,740 0
Xl 502,000 501,718 282
[ 107,370 107,511 A 141




SN MESXD
HE: JbRUs MEEY
Sl MY ATAM CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
o 107,370 107,511 A4
401 A& HIZ 201 I 693,340 693,340 0
X 485,620 485,338 282
& 103,860 104,001 A4
= 103,860 104,001 A4
01 A& HI 676,818 676,818 0
0 2+ L= (2.7km) 613,075 613,075 0
Xl 429,435 429,153 282
< 91,820 91,961 A4
[ia 91,820 91,961 A4
S2E T8 MY 1,817,540 1,785,320 32,220
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= 1,904 0 1,904
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0 JIHSAMEXSAIAR(ZEH) 0 8,500 A 8,500
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